Circles — Central Angle, Arcs
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Minor Arc:
mAC = mABC = x°
Major Arc:

mADC = 360°— x°

Circles — Tangents

Tangent line 7/ is
perpendicular to
radius BC at point C.
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ZAEC is an inscribed angle. Its measure

is ¥ of the central angle ZABC.

ZAEC = EAABC

If the central angle intercepts a

diameter (180°), then the inscribed

angle is 90°.

Compare with “Secant, Chord, and Tangent
Angles” below — all have factor Y.
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For atangent AB and a
secantBC drawn from a
common point B,

them£LCBA= % m&l% _

B

If two tangents intersect outside a
circle, then the angle formed is half
the difference of the intercepted
arcs.

m~ZCAB = % (m&l%l:)’) — m&l%)

Compare with “Secant, Chord, and Tangent
Angles” below — all have a factor of %.
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For two tangents AB and
AC drawn from a
common point A, the
lengths of AB and AC
are the same. Indeed, the
triangles AABP and
AACP are congruent.



Circles — Secant, Chord, and Tangent Angles
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If two secants or chords intersect If two secants intersect outside a
inside a circle, then each angle circle, then the angle formed is half If a secant and a tangent intersect
formed is half the sum of the the difference of the intercepted arcs. outside a circle, then the angle
mtercepte:d arcs. m.CAB = 1 (mI%[)) _ mC)II:)%) formed is half the difference of
Example: . 2 the intercepted arcs.
mZBED = > (ml%l-)D + m/&e) m./CAB = % (m%% — m&l%)
Circles — Secant and Chord Lengths
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If two secants intersect outside a circle,
then the products of the full segment
lengths and the external segment
lengths are equal.

If a secant and a tangent intersect
outside a circle, then the product of the
full secant segment length and the
external segment length equals the
square of the tangent segment length.

If two chords intersect inside a circle,
then the products of the lengths of the
two pieces of each chord are equal.

AE * AC = (AB)?
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